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bk —WR{TER
1 kAR 1 ko] 1 BRIk ARSI 1 kR 2 wewe k| 2 Bk 2 ek i 2 ok R [ome/ 1 wens
5 57 47 82. 5% 21 44, 7% 17 81. 0% 9 52. 9% 19. 1%
1 17 9 52. 9% 3 33. 3% 2 66. 7% 2 100. 0% 22. 2%
gt 74 56 75. 7% 24 42. 9% 19 79. 2% 11 57. 9% 19. 6%
GRS R ET  CRAdERD
L giaE s ] L wEBEk] L kERE ke ka1 REEE] 2 ka2 K2R 2 watk itk 2 AR [ama/  kawn
B 1 1 100. 0% 1 100. 0% 1 100. 0% 1 100. 0%  100. 0%
oS 2 1 50. 0% 1 100. 0% 0 0. 0% 0 0. 0% 0. 0%
g 3 2 66. 7% 2 100. 0% 1 50. 0% 1 100. 0% 50. 0%
ik PRE
LHuag s ] L ozBE s 1L BRIk ek B i 1 ek R 2 oehE k| 2 R BRER 2 wakE s 2 IE kR [ane  nans
B 5 5 100. 0% 3 60. 0% 3 100. 0% 1 33. 3% 20. 0%
7 46 44 95. 7% 9 20. 5% 8 88. 9% 5 62. 5% 11. 4%
gt 51 49 96. 1% 12 24. 5% 11 91. 7% 6 54. 5% 12. 2%
Wk IR A
1RAGAE S| 1 ZBE | 1 R BRR | LRAHE SR 1 IRERE| 2 kBt 2 OB | 2 REBE | 2 IREHE R [ans/ 1 nzny
B 15 14 93. 3% 5 35. 7% 5 100. 0% 1 20. 0% 7.1%
oS 11 11 100. 0% 5 45. 5% 2 40. 0% 1 50. 0% 9. 1%
gl 26 25 96. 2% 10 40. 0% 7 70. 0% 2 28. 6% 8. 0%
Wk —EEB
1HAES ] L REBRAE ] 1 RZBRR|WRABER | 1 IREAER] 2 wZBat | 2 W BER| 2 wakEs | 2 IREME | aks/ 1 xeps
B 1 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
oS 2 2 100. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
= 3 2 66. 7% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
#IAk_ EBS
1A E ] e 1 BRIk akE k] 1 kAR wase k] 2 ] 2 wakkE k] 2 Ak R ane 1 kens
B 31 29 93. 5% 11 37.9% 11 100. 0% 4 36. 4% 13. 8%
1 0 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0. 0%
= 31 29 93. 5% 11 37. 9% 11 100. 0% 4 36. 4% 13. 8%
BRI B
LRHAR S 1 REZBRE S| 1 REZBRR[IREHEF | 1 IREHE R | 2 W BE K | 2 RBRR | 2 KEHE | 2 IREHE SR | et/ 1
5 3 3 100. 0% 2 66. 7% 2 100. 0% 0 0. 0% 0. 0%
s 1 1 100. 0% 1 100. 0% 1 100. 0% 1 100. 0%  100. 0%
= 4 4 100. 0% 3 75. 0% 3 100. 0% 1 33. 3% 25. 0%
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5.2 9 5.2
4.5 2 4.5
5.1 11 5.1
B SIIHES
Vs 2 uaiss B EEL 1 wEmE/mn e
1.0 1 1.0
0.0 0.0
2.0 1 2.0
s PIGIEES
Vst 2 natE BB 1 wEmE/ mnEK
5.0 1 5.0
8.8 5 8.8
8.2 6 8.2
B BRI
Vst 2 naks BB 1 wEmE mnEK
14. 0 1 14. 0
11.0 1 11.0
12.5 2 12.5
B BRI
1rmpE/ 2 natd BB 1 wEnE/mnEK
0.0 0.0
0.0 0.0
0.0 0.0
fir sk BRI (555
Ve 2 nakt Be B 1 wEsE mmEK
7.3 4 7.3
0.0 0.0
7.3 4 7.3
e BRI {55
Vs 2wty BE B 1 wEmE mmEK
0.0 0.0
1.0 1 1.0
4.0 1 4.0
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1RHGAER | 1 RZRER | 1 IRBRB|IREHE | 1 IREKR| 2 kZBRER | 2 B 2 ka2 IREKER | ann/ 1 wznx
B 47 42 89. 4% 7 16. 7% 7 100. 0% 2 28. 6% 4. 8%
I 17 16 94. 1% 1 6. 3% 1 100. 0% 0 0. 0% 0. 0%
g 64 58 90. 6% 8 13. 8% 8 100. 0% 2 25. 0% 3. 4%
(/b Et) EREAER
1RHAER] 1 hZBREY 1 RERE1KEBER | L ROBE[2 hZRER] 2 RERE [ 2 hARER| 2 REHKE [ens/ 1 xaws
5B 57 47 82. 5% 21 44. 7% 17 81. 0% 9 52. 9% 19.1%
S 17 9 52. 9% 3 33.3% 2 66. 7% 2 100. 0% 22. 2%
B 74 56 75. 7% 24 42. 9% 19 79. 2% 11 57. 9% 19. 6%
(/h_E)  hEREIER
IRFRER] 1 RZREY 1 REBREKREEER | LROBE[2AZRER] 2 RSRE[2REKER] 2 REKE [ene/ 1 xzns
= 5 5 100. 0% 3 60. 0% 3 100. 0% 1 33.3% 20. 0%
BES 46 44 95. 7% 9 20. 5% 8 88. 9% 5 62. 5% 11. 4%
2t 51 49 96. 1% 12 24. 5% 11 91. 7% 6 54. 5% 12. 2%
(¢ E)  D8EIER
IRHFRER] 1 RZREY 1 REBREKREEER | LROBE[2AZRER] 2 RSRE[2KEAKER] 2 REKE [ene/ 1 xzns
= 47 43 91. 5% 16 37. 2% 16 100. 0% 5 31. 3% 11. 6%
oS 13 13 100. 0% 5 38. 5% 2 40. 0% 1 50. 0% 7. 7%
2t 60 56 93. 3% 21 37.5% 18 85. 7% 6 33.3% 10. 7%
(/h__§) BERRGITRRER
1R RER] 1 hEREE 1 REREREEER | LKORE[2 2B E%] 2 KSRE [ 2 hakE%] 2 KEKE [ane/ 1 xans
3 4 4 100. 0% 3 75. 0% 3 100. 0% 1 33.3% 25. 0%
S 3 2 66. 7% 2 100. 0% 1 50. 0% 1 100. 0% 50. 0%
2t 7 6 85. 7% 5 83. 3% 4 80. 0% 2 50. 0% 33. 3%
(/d_E) BEFteEZEREBRES
1R RAER] 1 REBEY 1 RERE1REEER | L REBE 2 nZBE%] 2 KZRE [ 2 kokE%] 2 KEKE [ane/ 1 xznn
3 47 42 89. 4% 7 16. 7% 7 100. 0% 2 28. 6% 4. 8%
4 17 16 94. 1% 1 6. 3% 1 100. 0% 0 0. 0% 0. 0%
s 64 58 90. 6% 8 13. 8% 8 100. 0% 2 25. 0% 3. 4%
(&__Et)
1R RER] 1 REBEE 1 RERE1REEER | L REBE[2 hZBE%] 2 KZRE [ 2 kokE%K] 2 KEKE [one/ 1 xznn
3 160 141 88. 1% 50 35. 5% 46 92. 0% 18 39.1% 12. 8%
4 96 84 87. 5% 20 23. 8% 14 70. 0% 9 64. 3% 10. 7%
g 256 225 87. 9% 70 31.1% 60 85. 7% 27 45. 0% 12. 0%
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